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A= AATAES A NEESHD
S MM HaAS 25t
SR 4% MEEH 42 XE ZHE 25t (St &)
432K - B S9I(E) - AIBAY - BES ofl e B HDS2
= 2,950,000
308 AXIHMSOI & 7,950,000 0 7,950,000
= 5,000,000
& 2,950,000
11 SISO E AR PE A 7,950,000 0 7,950,000
OALIEAIEl 22X 2At 7,950,000
= 5,000,000
& 2,950,000
4T AHEY AE DIPEY ALY 800,000 800,000 0
308 AHXIHM SO & 800,000 800,000
11 S 2SI & A2 A I 800,000 800,000
OAXt MHEHE dE0| |4 ALY 800,000
ADIEZE B3 SANAIY 1,587,030 1,587,030 0
308 AXIHMSOI& 1,587,030 1,587,030
11 BI|2SOIHEHE A X LAE AL 1,587,030 1,587,030
OALIESE B3 - & A (UI8) 1,587,030
HEE ANEESH &5 N 168,000 168,000 0
308 AXIHMSO0I& 168,000 168,000
11 SISO UeHE & A PE A 168,000 168,000
OHTE AESE &5 XJA(US) 168,000
2I|HE AQESE 2= XA 927,000 927,000
308 AHXIHM SO & 927,000 927,000
11 312 SO & A2 A LI 927,000 927,000
O ADIESE 25 XA 927,000
S2H ANESE HAEHE =5 2,200,000 2,200,000
308 AXIHMSO0I& 2,200,000 2,200,000
11 BII2S0ICHEHE A X LAE AL 2,200,000 2,200,000
OZ2A ANESE HAEHE 2H(US) 2,200,000
20 - BE - ZHIME A XR ASHA ASAIY 7,251,000 0 7,251,000
= 4,251,000
& 3,000,000
403 XX SHHMSKH=01A 7,251,000 0 7,251,000
= 4,251,000
= 3,000,000
01 XIXISH A= E X 7,251,000 0 7,251,000
OAT - 23 - ZHI&HY HH R &SEA #
= Al 7,251,000
= 4,251,000
& 3,000,000
4Xt AHEH HRFX 10,000 10,000 0
202 04d| 1,000 1,000
01 =WO4bI 1,000 1,000




AMEEASS
AEEAY HpS 23
A7 MUY N2 XS ZHS 45t EER=E)
2. 2B O(B) - HRAY - BaS ol &by A DS
OA4XE MY HdRF=E 0| 1,000
203 YR =LIH| 9,000 9,000
03 AMIBFAHRZ=XIH| 9,000 9,000
OA4XE Sy HRFX 9,000
ICT SEAHIA St 5,305,500 5,125,750 179,750
rag 165,500
o= 5,140,000
ICT/W & =4 5,305,500 5,125,750 179,750
rag 165,500
= 5,140,000
A MHEES Al JI=XE SHS 2= 131,000 250,000 119,000
308 AXIHHSOIA 131,000 250,000 119,000
11 3| 2SHUSZEANERAEAISY 131,000 250,000 119,000
OLHNH MHESAI JI=XE 2
ts) 131,000
SESASHE HEEEIY Jlgt 155,000 175,000 A20,000
308 KX SHHMSOIN 155,000 175,000 20,000
11 SISO S ZEAEAEALS 155,000 175,000 20,000
Os=0sXstd HEEEIH Dl 2 155,000
ICT OI=HIOIEARN =4 437,500 437,500 0
308 AHXISHHMSOIH 437,500 437,500
11 3| 2SH S-S A X E AL 437,500 437,500
OICT Ol=HIOIAAH X4 (T 437,500
SN XGHE DIt = 200,000 220,000 220,000
308 AXISHHSOIA 200,000 220,000 20,000
11 SI 2SI CHeZ A S EAIS I 200,000 220,000 A20,000
OSEMIAE XIGHE DBt 200,000
MN=E BtEHM 2HAH 25 1,059,000 1,059,000
308 KX SHHMSOIN 1,059,000 1,059,000
11 SISO CHSHZ A X EALS I 1,059,000 1,059,000
ONgg BteM 2HAH 25 1,059,000
XEW g &K 331,000 331,000 0
rag 165,500
= 165,500
308 AIXISHHMSOIH 331,000 331,000 0
= 165,500
L= 165,500
11 37| 2SSt 2 A EHIEAIS I 331,000 331,000 0
OXNgGWy S&KIA 331,000
g 165,500
& 165,500
KESWAHIAAIE S K& 128,000 0 128,000




gz |CT 88 S,
el ICT/W &t |4 (St &)
AR RA - ZB - E9I(E) - HRMY - BYS Ol &t G o B2
308 REXISHMSOIH 128,000 128,000
11 I 2SOt E A HAS ALZ | 128,000 128,000
OXISWABIAAIE S XIRA(THS) 128,000
ASWSEASME 22l 75,000 62,500 12,500
308 AXIHMSOIH 75,000 62,500 12,500
11 S 2SI A X2 &AL 75,000 62,500 12,500
OXNGNWSEASHH 2 22(THS) 75,000
SOSE 1= Y SWAHIA JHEALS 800,000 800,000 0
308 AXIHMISO0I& 800,000 800,000
11 SISO E AR PE A 800,000 800,000
OS0se = L SWABIA JHEAIE(THS) 800,000
ICTAMY ZHME 25t XI& At 129,000 150,000 221,000
308 REXISHMSOIH 129,000 150,000 221,000
11 I 2SOt Z A EAS ALZ | 129,000 150,000 221,000
OlcTe Y 2 23 X3 ALY 129,000
ICT ¥ S2018 Jl=oHg X 200,000 200,000
308 KXIHMSO0IH 200,000 200,000
11 SN2 SO AR &AL 200,000 200,000
OICT Yl SA401e Jl=Hy X 200,000
E5 AZEY (W) OIS 420,000 420,000 0
308 AXIHMSO0I& 420,000 420,000
11 S 2SO U3 AR PE A 420,000 420,000
O&=2 AZEQIO(SN) DlAMS(THHE) 420,000
AZEN SAUE X At 50,000 50,000 0
308 RXISHMSOIH 50,000 50,000
11 312 S0eHE &R A I 50,000 50,000
OAZESIN SAUE K& Ar(TS) 50,000
Grand ICTHHIEH 29 400,000 400,000
308 KXIHMSOIH 400,000 400,000
11 SN2 SO A H &AL 400,000 400,000
OGrand ICTHARMIE 2 (THS) 400,000
ICTESE =58 =22 HSHH 22X 280,000 280,000
308 AXIHMSO0I& 280,000 280,000
11 S 2SO 3 AR PE A 280,000 280,000
OICTE=g &5 22Y HSHdH 2ERR(
0s) 280,000
ESWR - RMEAHEHEH 22 350,000 0 350,000
308 REXIHMSOIH 350,000 350,000
11 S 2SI &AL 350,000 350,000
E2WR - RUEAHEHH 2L(US) 350,000
ICT ClHtOIA 8 22 160,000 160,000 0
308 AXIHMSO0I & 160,000 160,000




TP SN AEEERD
M |CT SEAHIA SHA
el ICT/W &t |4 (St &)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
d= - FA - 35 = 945 . 0l &
11 2|2 SHUSZEAERAEAID Y] 160,000 160,000 0
OICT CIHoIA S 2Y9(U2) 160,000
ClIOIE &Y 4 L AHMERH =4 516,236 587,142 A70,906
CIOIED|et A E- 3t 216,236 87,142 129,094
SIHIOIE BB S3E 29 166,236 37,142 129,094
201 LEt2AH| 166,236 37,142 129,094
01 AFR2teldl 3,000 0 3,000
OHIStA O /& =& 3,000
02 S32ZH| 163,236 37,142 126,094
OBlHI0IE 3B 23 X2l 147,000
OJ|2HEIAIAE S22 16,236
S3U0IeH &8 SZXUS 50,000 50,000 0
308 AXIHHMSOIA 50,000 50,000
11 SI2SHUSHEANIEAIEHI 50,000 50,000
OZ2Z20I0I8 &2 FEANUs & HLE
X 50,000
CIXIE M2 S HIoIe Z3dE A5t 300,000 500,000 200,000
=AY BH0Ie &2 A48 Xd 200,000 200,000 0
308 AXISHHSOIA 200,000 200,000 0
11 SO 2SHUSZEAERAEAID LI 200,000 200,000 0
OS2I BlHolEe &8 A& XA 200,000
HhielsE Sost &2 Fdoz E3lsE 25 100,000 100,000
308 AXIHHSOIA 100,000 100,000
11 SI2SUHUSEANAE AL HI 100,000 100,000
OtteAsE SHes &858 JYUo s S
=) 100,000
MM B4 1,795,100 2,590,000 794,900
J| 52,258
= 1,742,842
AN DsdstE2 AHdEES st 1,795,100 2,490,000 694,900
J| 52,258
& 1,742,842
SEAFNLX A 2HAIS 200,000 200,000 0
308 AXIHHMSOIA 200,000 200,000
11 2|2 SHUSE A ERAEAIEH] 200,000 200,000
OEEAPIILX S 2HAIH () 200,000
AMEESS A 40,000 60,000 A20,000
308 AXISHISOIA 40,000 60,000 A20,000
11 2|2 SHUSEAERAEAID ] 40,000 60,000 220,000
ONHZESSAIY L2Z2H AIYEE PR EY 40,000
ARMAH MO S2AY K& 100,000 100,000
308 AXIHHSOIA 100,000 100,000 0




SMEEFAAZ
AT R4
HTHE JIs3ez A8E EER=E)
2. 2A - B G9I(S) - NRAIY - BAS A SimE==t
11 3I12Soe3&H ]l 100,000 100,000 0
OGS RIAM Het Z2A 100,000
WHEEEIIE ARINL(RD 400,000 400,000
308 KXIHMSOIH 400,000 400,000
1 SI|2S0ICHEtE & 400,000 400,000
Ontstss8lls AT IHL(RD) 400,000
S5 FF LAHANEER 450,000 450,000
306 == 450,000 450,000
01 &3 450,000 450,000
OS= == Z2H70M
) 450,000
E=SBECHA EHZ LHEAIA 105,100 0 105,100
52,258
52,842
401 A& B2 20HY| 105, 100 0 105, 100
52,258
52,842
01 AlEHI 98,800 0 98,800
O&E=BECIAt B2 98,800
49,103
49,697
02 eyl 6,300 0 6,300
O FSBECHAF B2 6,300
3,155
= 3,145
MASANHRREEH 2= 500,000 1,250,000 A750,000
402 SI2ERH=0IH 500,000 1,250,000 A750,000
01 QIZEXH2 A 2 2 (RERITH ) 500,000 1,250,000 AT750,000
OQr St A& X A4l 500,000
HY2AAH (ML ES2 D) 131,875 128,688 3,187
Jl1E2al 131,875 128,683 3,187
J|1E23&| 131,875 128,683 3,187
201 L2 | 70,775 73,328 A2,553
01 Ar22eltl 22,175 29,288 AT7,113
OJ12==2H| 9,050
OJ 2=l 13,125
2 S=29| 48,600 44,040 4,560
O3323H| 48,600
202 Odt| 42,500 37,360 5,140
01 =WHO4L| 42,500 37,360 5,140
OJ120| 42,500
203 PYRF=&IH| 18,600 18,000 600
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=

E 0 & AHE & A A

2023 20lat LB AEFMAS
A= MEHAE= 2A S
S Metitg Saldgg st
Helr SAUXMIIY |4 EER=E)
A 2N B G(B) - NRAY - BES 0 &y A HIRS
SRS 37,000,927 26,558,124 10,442,803
A A 25 8,450,200 5,490,500 2,959,700
SAUKHIIY |4 171,200 200,000 28,800
R Falgesoges 9,200 8,000 1,200
201 ZB=EhI 8,000 8,000 0
01 AlR2telHl 8,000 8,000 0
Ogetda=+gy| 8,000
203 AR =2IY| 1,200 0 1,200
03 A= H 2| 1,200 0 1,200
ONHUAFTY FA 1,200
Ol'=HI=(InnoBiz) AIS&SXIA A 12,000 12,000
308 AXIHSOIA 12,000 12,000
N S| 2SHUSE S AS AN 12,000 12,000
OO0lcHIZ(Inno-Biz) AISESKIE A 12,000
Ol=BIZJ1Y BHHUS AMY 150,000 150,000
308 ARISHSOIH 150,000 150,000
1 S| 2SO0 UEE 4 XAS A 150,000 150,000
OO0l=HIZI 1Y HHAAS ALY 150,000
s gsae |4 8,279,000 5,290,500 2,988,500
NSIH £501d 2l OHAIE X (HEAY) 74,000 74,000 0
308 XXM SOIA 74,000 74,000 0
N S| 2SS SN AS A 74,000 74,000 0
OMSAt 2318 =U2 OHHE X2 74,000
NsSit 24 FFa DE5H XM (HEALY) 500,000 500,000 0
308 ARISMSOIE 500,000 500,000
N S| 2SHUSE X AS AN 500,000 500,000
ONSA FS4& B L1NEs NEAE 500,000
NSTH F3 ASKE A 200,000 200,000 0
308 ARISHMSOIH 200,000 200,000
1 S| 2 S0 UEE 4 X AS A 200,000 200,000
OXNSIHES 25 K2 A 200,000
NSIDIY SE012 AFHY KA (HEAY) 1,000,000 1,000,000 0
308 XXM SOIA 1,000,000 1,000,000
N S| 2SS 4N AS AN 1,000,000 1,000,000
OXsSIVIY =)l AN XA 1,000,000
OliXt MEEE J1s2d 2 A2l J[e=(U3) 3,050,000 830,000 2,170,000
402 RI”FXH=01 A 3,050,000 880,000 2,170,000
01 QI X2 AL E R (KEHITHE) 3,050,000 830,000 2,170,000
ODIchHAt YRS Jlsetd & a2y Jgt
2=(U8) 3,050,000
NeFd A2 2435 At 100,000 220,000 120,000
308 ARISHMSOIE 100,000 220,000 A 120,000




2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
11 SIS0t 4 A AS A 100,000 220,000 120,000
OXte=d A28 243t At 100,000
ANed 25 2 W AEXNE A 200,000 200,000 0
308 AXIHS0IA 200,000 200,000 0
11 S| 2SO0 SHASAIE 200,000 200,000 0
OXte=d 25 & W A3 At 200,000
CH=EH NSAH AgEE SAXIZ A 800,000 780,000 20,000
308 AFAIEHMSOIE 800,000 780,000 20,000
11 S 2S0 e EAS A 800,000 780,000 20,000
OU=H TSA AtgdE e SalXIAY 800,000
DIHEXISA )| MBS AIF(US) 60,000 0 60,000
308 XtXIEMSO0IE 60,000 0 60,000
11 SIS0t oA AS A 60,000 0 60,000
ODIHENSIt sHadls dE0Edd Al
(ta) 60,000
TEZME A olZet IF(UE) 2,295,000 0 2,295,000
402 2I2FX=01 & 2,295,000 0 2,295,000
01 QI XHE AL E R (KM TH) 2,295,000 0 2,295,000
O=sgrd Al elZet RE(HE) 2,295,000
dEfit | 25,414,400 17,802,638 7,611,762
NS SMASEA 24,404,400 17,402,638 7,001,762
A= SEAY 5,726,000 5,593,000 133,000
308 AXIHMSOIA 5,726,000 5,593,000 133,000
1 SIS0t EAS A 5,726,000 5,593,000 133,000
OXF=24 SEAG(TS) 5,726,000
=N ESE A A2 2,768,000 1,765,000 1,003,000
308 AtXIEMSOIE 2,768,000 1,765,000 1,003,000
11 S| 2SI U ZB4HASAIE 2,768,000 1,765,000 1,003,000
OZVEAS=SEHX N2 A (THE) 2,768,000
JIEAHHBTUERAT AL 207,000 221,000 14,000
308 AtXIEMSO0IE 207,000 221,000 214,000
11 SIS0t 4 A A A 207,000 221,000 14,000
OJI=HHAFL UERT M (HE) 207,000
Az 2Lt S4 AL 600,000 523,638 76,362
308 AXIHMSOIA 600,000 523,638 76,362
1 SIS0t EAS A 600,000 523,638 76,362
OAlZ ZdHYeME SEAY 600,000
AT AHNE D& WIIX XE A 250,000 500,000 250,000
403 AXIEHHSAH=201H 250,000 500,000 250,000
02 SO 2SOt st =& 2 €A ] 250,000 500,000 250,000
OAlIZ &HHAE &3 TIIK KIRAAS 250,000
Negel SAdEAY 328,000 0 328,000

_10_




= AEEMER A MESY
I MEY |4
ol ASHH AP SSAY EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
308 XXM SOl 328,000 0 328,000
N S| 2SHUEHE S HAS AN 328,000 0 328,000
OXSEs HAdFAA(US) 328,000
OIRIEA A2 Sl FAH 2 140,000 140,000 0
308 AXIHSO0IA 140,000 140,000
1 SIS0t AS A 140,000 140,000
OOIXHEX A2H S =8 29 140,000
g IHEE OIMEX 2 =y At 300,000 300,000 0
308 ARISHMSOIE 300,000 300,000
1 S| 2SO UEHE &4 X 2AS A 300,000 300,000
OJIg=2 XEL OIXNEA 2 2y
At 300,000
OIREX AEEY 54 S2HE 5 AL 280,000 280,000
308 AXIMSOIA 280,000 280,000
N SO 2SHUESHE X AS A 280,000 280,000
OOIXIEXl AEEY |54 SHE 75 AL 280,000
OIRIEX AMFS ASEIHH 2= 3,745,000 3,400,000 345,000
403 MXISHHSI=201H 3,745,000 3,400,000 345,000
02 SI12SotHe =2 H A S A 3,745,000 3,400,000 345,000
OOIXIEX ATHRS AEEIMNY 2=(0
8) 3,745,000
OIXtEXl Dz - NE Z8= 2et N 500,000 500,000 0
308 XXM SOIA 500,000 500,000
N S| 2SHUEHE SN AS AR 500,000 500,000
OO0IXtEX Jle - NE 8= Zat N 500,000
XAICH OIXFE R BE JI=oHe X 800,000 0 800,000
308 AXIHSO0IA 800,000 0 800,000
N S| 2SHUSBE 4 AS AN 800,000 0 800,000
OXtAITH OIXIEX & Jl=ie X 800,000
HHEI 2] THALS - THEFE JIs0iY M2y 40,000 0 40,000
308 ARISHHSOIH 40,000 0 40,000
1 S| 2 S0 UEHE &4 X AS A 40,000 0 40,000
OUHECI THALS - HES Jlse d20H
2d(Us) 40,000
= OIXMHEX g2H 4 & 29 15,000 0 15,000
308 XXM SOIA 15,000 0 15,000
N S| 2SHUSE SHAAS AN 15,000 0 15,000
OOIXtEX 82X =9 15,000
P_F;E&EIQJIEF ATEE ANSE24 HAEHE #=(0 3,270,000 0 3,270,000
402 2I2FXH=01 A 3,270,000 0 3,270,000
01 QI XHE AL E R (K TH) 3,270,000 0 3,270,000

_11_




A= AATAES 2A 1 AHsH
Hu: mpY IY
el NG HEAEESAY (SH9 H2)
A 2A - B . HA(SH) - HIRAIY - BES Ofl &kl OE:IE‘LE“ Hlns
OSHHAIZIY JI8 ATHRE AlBE24 HA
EHIE 2E(US) 3,270,000
W2 SSHE e tES HIPIE 2F(US) 2,082,400 2,082,400
403 XIS SK=01™ 2,082,400 2,082,400
02 2| 2SO CHEHAH2 X 2 ELAHI 2,082,400 2,082,400
OW % SEHS 2l otEs BIP|g
() 2,082,400
AN - BE - Il 20F JlBHY KR AL (HEAIY) 2,000,000 2,000,000 0
308 XIXICHHISOIE 2,000,000 2,000,000
11 S| 2SI USHE A XA 2,000,000 2,000,000
O2M - 25 - ZHl 20 Il X At 2,000,000
A28 & MEIF AHOIE 2 150,000 150,000
308 XIXISHHISOIE 150,000 150,000
1 SIS USHE A SR A 150,000 150,000
OA2E XA M2t AHOIE 2Y 150,000
A2% M2 |4 XA AMY 180,000 200,000 A20,000
308 XIXISHHISOI& 180,000 200,000 A20,000
11 3| 2SOICHEHE A XA EAI I 180,000 200,000 A20,000
OARZE H2I|1Y |4 X2 Al 180,000
L0 A2IH0IEH ’8 Y MY BiolH MED|s 25,000 25,000 0
/i
308 XIXICHHISOIE 25,000 25,000
11 S| 2SI USHE A S E A 25,000 25,000
LI0I-A2AHOIEH A2 L Mt bt
oI MIZ=JI=HE(US) 25,000
S| A HAASIE 2E Y SUE 25 A 120,000 120,000 0
e
403 XIS SKH=0|™ 120,000 120,000
02 2| 2SO CHEHRH2 X I ELA I 120,000 120,000
ON3A MY EAAMIIE 25 WEE E
BE 2E AIH(TIE) 120,000
SE;UHYHHH 29AIS 360,000 400,000 240,000
308 XIXISHHISOI& 360,000 400,000 40,000
1 SO 2SHUSHE A E A 360,000 400,000 40,000
O==S=2HXHEH 29AHS 360,000
ST B UG XA 18,000 20,000 A2,000
308 XIXISHHISOI& 18,000 20,000 A2,000
11 3I| 2SS0 CHeHE & X2 E ALY 18,000 20,000 A2,000
OsZI|ated 3 243 X2 A 18,000
Mg ML EASE S Jl=s N 300,000 300,000
308 XIXISHHISOIE 300,000 300,000
11 3| 2SOHEHE A X EAI I 300,000 300,000
OA3| MR EtasE t3dl=s X& 300,000
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A= MEHAYE= A MESY
L SEORSIEYS
o9l MIE A TS AR COR
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
A0IE s20] Y JI=HY XNJAY 200,000 200,000
308 XHXIEMSOIH 200,000 200,000
11 SIS0t AAS A 200,000 200,000
OALNIE &) B Jl=g XA 200,000
HHE HepD|lsdg |4 1,010,000 400,000 610,000
CIXE *e|¥y usdH 22 (US) 650,000 650,000
308 AtXIEMSOIE 650,000 650,000
1 SIS0t AS A 650,000 650,000
OtiNg #e/g8d Usdd 28(U8) 650,000
HepPlsdtg 3y Y X 360,000 400,000 40,000
308 AHXIHMSO0IA 360,000 400,000 240,000
11 S [2S0 e YA AS A 360,000 400,000 240,000
Ofclll=dey Zd5 23 N3 360,000
ICT SEAHIA =it 3,082,000 3,215,000 A133,000
B &Y =4 3,082,000 3,215,000 133,000
PEH 2y 2 oM 2dEE 27,000 30,000 3,000
308 AtXIEMSOIE 27,000 30,000 A3,000
11 S| 2SH U B SHASAIE 27,000 30,000 A3,000
Ofted 28 & oMl 2d29Y 27,000
AAEIBIER S8 dz0s 2d 20,000 20,000
308 XtXIEMSO0IH 20,000 20,000
11 SIS0 EAS A 20,000 20,000
OAAEBIEH S8d2s 28(US) 20,000
AAERIBIER Jl=0He X1 840,000 1,000,000 A160,000
308 AHXIEMSOIE 840,000 1,000,000 A160,000
1 SIS0t EAS A 840,000 1,000,000 160,000
OAIAEBIEH D= X 840,000
B A - Dl 2EE RSAS (HEALY) 400,000 400,000 0
308 AtXIEMSOIE 400,000 400,000
1 SIS0t 3o AS A 400,000 400,000
OBt AIE - Il AEE X3A 400,000
BIEX 222 0PIE XN2AIS (HEAY) 400,000 400,000 0
308 XtXIEMSO0IE 400,000 400,000
11 SIS0 EAS A 400,000 400,000
OBICH =222 0BHE XI2AE 400,000
HEHMEYRES A HA U3t 465,000 465,000
403 MR HHMSAHE01H 465,000 465,000
02 B2 S0t 2 S A A 465,000 465,000
OBtEHSERS SHAg A DE3H
2) 465,000
B A QATHEE ALY 130,000 100,000 30,000
308 AXIHMSO0IA 130,000 100,000 30,000
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S 0l & AHEY I

Al A

0238 20lat LEe ) AdEMH=
Al NAEAI R FA 0 Ol Xl
3 HUXXES &85 2
SR Ul & EH =2 (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH dEs Hnz=2
SmrTACERE N S5 B Ol &0 ==
Ofl LA X 2t 19,810,841 15,641,108 4,169,733
= 1,043,750
2l 6,306,371
[ 12,460,720
HUHXIAFES 2825 2tel 8,038,540 3,227,987 4,810,553
= 1,043,750
2l 5,364,700
=S 1,630,090
HUX 8N =5 8,006,040 3,195,487 4,810,553
= 1,018,750
2l 5,364,700
[ 1,622,590
TADIASIAL S2HIE &Y 89 30,000 30,000 0
207 AR 30,000 30,000
01 A2 S| 30,000 30,000
OZAIIIASAL S2HIE MHEES 30,000
LPG A XS 2SAE 248,000 186,000 62,000
= 200,000
& 48,000
403 MXIHHSH20IH 248,000 186,000 62,000
= 200,000
& 48,000
01 A= E2XE 248,000 186,000 62,000
OLFG A8 MEYT 2ot 248,000
= 200,000
[ 48,000
LPG A M 2SS A (XEH) 600,000 690,000 290,000
403 MXISHHSEXZ01N 600,000 690,000 290,000
01 XISHH A =2 600,000 690,000 A90,000
OLPG A MEHT ES A (XHA) 600,000
LPGE I ALEJE7 AIEIHE AL 603,450 188,500 414,950
= 470,250
& 133,200
403 MR EHSAHE01H 603,450 188,500 414,950
= 470,250
[ 133,200
01 XIS A =2 603,450 188,500 414,950
OLPGEI| AFEItT AIEHE A 603,450
= 470,250
& 133,200
FHAANE HUXISX AL 1,456,190 487,000 969,190
) 1,129,700
& 326,490




= AgEAR S N [Ep

3 UXIARL 283 2
Rl IHX HEE B8 EER=E)
Al = £ o|(5 = dET =
AZ . 2A - BB S(3) - MEAY - BYS Ofl r ot S CimE=ET
403 X SHHMSAH=01H 1,456,190 487,000 969,190
2 1,129,700
< 326,490
01 AXISHHA 22 % 1,456,190 487,000 969, 190
OFHAAE HHRI=X ALY 1,456,190
) 1,129,700
< 326,490
KSUUH XA Al K1 348,000 101,600 246,400
= 348,000
403 MR HHMSAHE01H 348,000 101,600 246,400
= 348,000
01 MRS 2EE 348,000 101,600 246,400
OXISHULX HorAtS 348,000
= 348,000
NSAHUXIAE =S X3 1,000 1,000 0
= 500
< 500
201 Eer23 | 1,000 1,000 0
= 500
< 500
01 At2teltl 1,000 1,000 0
OXZHUHXNAHE HdE2u= 1,000
= 500
[ 500
UM ELHRFA 9,200 8,000 1,200
201 ZBt2 ] 8,000 8,000 0
01 At2t2l] 8,000 8,000 0
OgtBa==2H| 8,000
203 FR=4| 1,200 0 1,200
03 A= AR FAIH| 1,200 0 1,200
ol XIate =4 =& 1,200
O &laHY =4 19,000 19,000
202 Ot 3,000 3,000
01 =LioiL 3,000 3,000
OUUXl &Mt 54 S HRFL UL 3,000
308 RIXIEME0IH 16,000 16,000
11 S 2SO E & AE AL 16,000 16,000
O0IUXl aldY SHS 2?8t stz g2
3 29 16,000
HEZ XES3 ALY KR 3,954,000 0 3,954,000
7 3,954,000
403 AXIEHHSAH=201H 3,954,000 0 3,954,000
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RNV N

A oIE X2

D HURIARL 228 22
DX HEAE B8 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
| 3,954,000
01 AR AH=2E £ 3,954,000 0 3,954,000
Olel=e M2 XS3t At 3,954,000
| 3,954,000
AMBIE & HISE 002 &2 MEA HE38 JIsHg 400,000 400,000
308 REXIHMSOIA 400,000 400,000
01 XN EXS 400,000 400,000
OAIHIE & HIE 02 &8 MEA A2t
Jl=(Ts) 400,000
CEXHLY| FHAEH Q=S A 337,200 0 337,200
| 281,000
& 56,200
403 XX SHHSKH=01A 337,200 0 337,200
| 281,000
= 56,200
01 RtXIEtHAH22 £ 337,200 0 337,200
OE2XAHLY| A3EZ dZet2=E KJA
o 337,200
| 281,000
& 56,200
LA otM 2| 32,500 32,500 0
= 25,000
& 7,500
S0 ADUE 2es7EEd 32,500 32,500 0
= 25,000
& 7,500
308 RXISHMSOIH 32,500 32,500 0
= 25,000
& 7,500
01 XN AExS 32,500 32,500 0
OsZI| AIAES st=sEd 32,500
= 25,000
& 7,500
22 L ATHA UK sS4 11,697,735 12,332,358 A634,623
| 1,671
& 10,756,064
& o AT UK =S4 X 11,697,735 12,332,358 A634,623
| 91,671
= 10,756,064
Sctgel &4 166,000 201,000 35,000
201 LEr2 | 10,000 10,000 0
01 At 22|l 10,000 10,000 0
Oserdie] =4 29 10,000




MEF AR A HERID
BRI O ATHAY LIS S
EHfa 2 AT oHXI&Y =4 K& (SH9 H2)
2. 24 - BB O9(30) - HRAY - BAS ol ke G o HlmS2
202 Ot 3,000 3,000
01 =WHO4bI 3,000 3,000
Osctde] RFE =Y 3,000
308 AHXIHMSOIH 153,000 188,000 235,000
11 BI 2SO B A ELE AL 153,000 188,000 A35,000
OEf 2 o2 DIAHIE XA 60,000
O 2 0HIHIE X 60,000
O2=2Y ALIE &ctd¥el &5 =4 33,000
SCtHAEIY (MEALY) 540,000 540,000 0
308 AHXIHM SO & 540,000 540,000
1 I 2SO HEE A E L EFALZH] 540,000 540,000
02023 EetHIAEIY JHE 540,000
SSHLALES OIXHEH 218,695 288,64 A69,99
307 gI2Hol ™ 217,291 281,64 264,403
08 OIXt2MZ 217,291 281,694 264,403
OEAZEHE e HYZEETZ 0IXHEH 217,291
308 AXIEHMSOIN 1,404 7,000 A5, 5%6
1 SI2ASUHHEHE AR LE AL 1,404 7,000 A5, 5%6
OfeZ2LXIZ2 OIXNEN x5 1,404
B2 =EEZ At 1,200,000 1,200,000 0
403 XX SHMS K201 A 1,200,000 1,200,000
01 IXISHAE2ER 1,200,000 1,200,000
OHYZ ZEHEZ AE(UIS) 1,200,000
HEE HE XA 57,600 118,800 261,200
403 MXISHHMSAHE01A 57,600 118,800 261,200
01 X SHH =2 E xR 57,600 118,800 261,200
OEE Y XA (THS) 57,600
ATHAENUHK =8 XJAS 2,286,423 2,797,696 Ab11,273
403 REXISHHIS K201 & 2,286,423 2,797,696 Ab11,273
01 AIXISHH 22X 2,286,423 2,797,696 Ab11,273
OXTHMUUX 858 KAAS(THS) 2,286,423
S4sIE B2 E=SAE 160,000 160,000 0
403 XtXISHMSKHE0IA 160,000 160,000
01 MXISHHAE2ER 160,000 160,000
OF4rsIt HYd B2 AR(THS) 160,000
SHDIBtEE ALY 851,671 458,442 393,229
| 851,671
403 XX SHMSKHE01 ™ 851,671 458,442 393,229
| 851,671
01 XEXISHHI A =22 & 851,671 458,442 393,229
OAITHAUILHX SHCHIIBEE S AL 851,671
| 851,671
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AR MM EARIR SM  HIEXID
M YT L ATHA OILAKIAMY S
CHR: N U AITHAY O RIAY B4 X (crop:mel)
A2 2N - FHB . S(3) - HRAY - BE SR Ofl Oﬁ]gﬁ Hnz2
| O%siaa AATBHE 2EA(THES) 708,000
MEXIDIY 22 RES I LK S AF 800,000 800,000
308 XIXICHI S OI & 800,000 800,000
11 SI|2SHCHSZ A EAIS I 800,000 800,000
ONUXIIIY 42 HES JISHL IR AL 800,000
Zx0 42 )8 JgldA 01Tg = J|=2HE 22 110,000 0 110,000
29
p] 90,000
& 20,000
308 KX SHMSOIN 110,000 0 110,000
J| 90,000
o= 20,000
01 AXISHNEAERZ 110,000 0 110,000
OSZg 421 J|8t Jpls4 olmpt 2= J)
28 48 29 110,000
Dl 90,000
[ 20,000
S =224/ (I XD 46,566 52,763 6,197
J|l238h| 46,566 52,763 6,197
J|23| 46,566 52,763 6,197
201 Let2AY| 15,966 23,953 INT,987
01 At22teld| 15,966 23,953 NNT,987
012424 6,516
OYIEEET] 9,450
202 04t 30,600 28,810 1,790
01 ZLHOdHI 30,600 28,810 1,790
OJ120| 30,600
HRES (0l X 28,000 28,000 0
TESEES 28,000 28,000 0
TEVENE 28,000 28,000 0
705 Ol 22i2| 2 Ak 28,000 28,000 0
04 Al - EXSHED |20 =20| KAkt 28,000 28,000 0
O4ANBX SEASTIIME 2= ALY 28,000




